West Leederville Primary School



YEAR TWO 2023 23 700 02 B

ALL ORDERS MUST BE COMPLETED Online at www.campion.com.au by Friday 21st October 2022 Using "74P6" as your code

Orders can still be placed past the 'return date' but it may incur a late fee.

PREPACKAGED DELIVERY SERVICE

HOME DELIVERY

Your order will be dispatched for FREE the week ending 18th November 2022, if placed on or before the Return date of Friday 21st October 2022.

Orders placed after the 21st of October will incur a late fee of \$8.00. If ordering later please allow sufficient time for delivery to occur prior to the commencement of the school year.



Your Campion Store 751 Marshall Road MALAGA WA 6090 Contact Us 08 6240 2778 wasales@campion.com.au

How to order your resources

Helping your school / college

Please be aware that shopping with Campion, your school's/college's preferred supplier, ensures you receive the correct items and editions. You are also supporting your school/college as Campion assists your school community in many ways.

Options to order

Home delivery

- Order online at <u>www.campion.com.au</u> before the date on the front of your resource list to guarantee supply of all items. All online orders must be prepaid.
- Ordering instructions
- 1. Log on to www.campion.com.au
- 2. Click on Online ordering for parents and students.
- 3. Create your account.
- **Please note:** Creating an account enables you to track your delivery through Australia Post, place orders for multiple students in multiple schools with just one payment, amend your order and retrieve digital access for ebooks.
- 4. Select your school and enter in your 4-character Resource List code, which is on the front page of this resource list.
- 5. Select the year level and then choose the items you want to purchase. Then click on continue.
- 6. Enter in your delivery option and complete details.
- 7. Review and complete purchase.
- 8. Once completed an order confirmation will be sent to your email address.

9. If you have purchased any ebooks you will receive a separate activation email. You will need to follow the instructions within the email to complete the set up of each product.

Late Orders

Orders can still be placed online after your school's cutoff date, however these are considered late orders and may incur additional charges.

Delivery of these orders cannot be guaranteed prior to the commencement of the school year.

'While You Wait' collection service (Malaga or Canning Vale)

Please note long delays can be experienced in the two weeks prior to the commencement of the school year and availability of all stock lines cannot be guaranteed at this time. All back ordered items will be posted and a delivery fee will apply.

Malaga - 751 Marshall Road, Malaga (next to Stratco)



Canning Vale - 25b Baile Rd, Canning Vale



Trading Hours

Monday - Friday 9:00 am - 5:00 pm

Extended Trading Hours 8:30 am - 5:00 pm(16th Jan 2023 - 4th Feb 2023) Saturdays 8:30am - 2:00pm(Jan 21st, Jan 28th & Feb 4th 2023) Closed – Sundays & Public Holidays

Refunds

Refunds will be given on **TEXTBOOKS/WORKBOOKS ONLY** in **NEW** condition up to end of February 2023 or 2 weeks after the purchase date (whichever is later).

Digital products and Stationery items cannot be refunded.

We will gladly refund or exchange any goods deemed faulty from the manufacturer.

Have a Question?

Our website has answers to just about every question you might have, whether it's how to place your order, how to access your digital products or where to find our Retail Service Centres.

Visit www.campion.com.au/parents and find the answers you need quickly and easily.

Office Use	Description	ltem No.	Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	YEAR TWO					
	PERSONAL ITEMS FOR STUDENT USE					
P50129	Crayons 12's Twistable (WA Schools Only)	1		1	4.95	4.95
P50175	Display Book A4 40 Pocket Refillable	2		1	6.00	6.00
P55491	Document Wallet FC Slimpick Brights	3		1	1.05	1.05
P58510	Eraser Plastic Pencil Large With Sleeve	4		6	0.40	2.40
P52622	Exercise Book A4 64 Page 14mm Ruled PP Cover w / Margin	5		2	2.00	4.00
P50697	Storybook A4 48 page 12mm 2/3rds ruled Magic/Picture	6		2	1.70	3.40
P50130	Glue Stick UHU 40 gm	7		4	3.35	13.40
P51629	Grid Book A4 48 page 10mm PP Cover Spirax	8		1	1.60	1.60
P52227	Handy Pouch B4	9		1	7.95	7.95
P51290	Highlighters Pkt 4 Cols 70/ 4 Stabilo Boss	10		1	10.95	10.95
P56291	Marker Artline #70 Bullet Point 1.5mm Black (Xylene Free)	11		1	4.50	4.50
P56081	Marker Artline #200 Black 0.4mm	12		3	3.70	11.10
P56115	Marker Artline #210 Black 0.6mm	13		3	3.70	11.10
P55808	Markers Connector Pens Wallet 12 Assorted	14		1	6.25	6.25
P55973	Oil Pastels 12's L12 Box Large Micador	15		1	5.20	5.20
P56173	Pencil (HB) Junior Triangular Grip	16		16	0.80	12.80
P56237	Pencil Red Checking/Ruling	17		2	0.75	1.50
P51004	Pencils-Coloured 12's Triangular Box	18		2	4.60	9.20
P50261	Post It Notes Super Sticky Neon 76mm x 76mm Pkt 3	19		1	7.20	7.20
P51591	Ruler 300mm x 40mm Plastic Clear	20		1	0.90	0.90
P51632	Scrapbook 335x245mm 64 page 100gsm Clear PP Cover Spirax 152	21		8	2.50	20.00
P51662	Sharpener Faber Grip Double	22		1	4.35	4.35
P51226	Whiteboard Marker Black Lumocolor 341-9	23		4	3.75	15.00
P52498	Whiteboard Markers Bullet Fine Wallet 4 Assorted Faber	24		1	12.05	12.05
F35140	West Leederville PS Diary	25		1	16.50	16.50
	Please provide payment to Campion - Diary will be supplied at schoo	Ι.				
	Select RIGHT or LEFT handed scissors	<u>Choose One</u>				
P50159	Scissors 130mm Maped Start Soft	26		1	2.40	2.40
P51913	- OR - Scissors 120/135mm Left Handed	27		1	2.65	2.65
	Datain from annian ann Danlaga if ar minde					
P55321	Retain from previous year. Replace if required:	00		4	4 50	4 50
	Clipfolder A4 PVC Black	28		1	4.50	4.50
P50132 P50688	Headphones Volume Limiting Kids	29		1	19.95	19.95
P30000	Pencil Case 325x180mm 2 Zip Name Vinyl Large	30		1	4.45	4.45
	ART, MUSIC, LANGUAGE & DRAMA					
P52187	Display Book A3 20 Pocket Foldermate Black (Non-Ref)	31		1	10.50	10.50
	Return to school from previous year. New students to purchase.					
P56677	Visual Art Diary A3 60 Sheet 110gsm	32		1	9.75	9.75
	Retained from previous year. Replace if necessary.					
P56451	Scrapbook 335x240mm 64 Page	33		2	2.00	4.00
P56176	Pencil (2B) Copperplate	34		1	0.55	0.55
P50597	Eraser Dust Free Black Large Faber-Castell	35		1	1.00	1.00
P55654	Glue Stick 40gm UHU Blue	36		2	3.35	6.70
P56291	Marker Artline #70 Bullet Point 1.5mm Black (Xylene Free)	37		1	4.50	4.50
P56293	Marker Artline #700 Black	38		1	4.50	4.50

Please tick the items required in the box provided \downarrow

Office Use	Description	ltem No.	Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	VOLUNTARY CONTRIBUTIONS					
	While the following contributions are voluntary, the quality of ou contribute.	r teaching and learning	g program wil	ll be maximis	sed when a	all families
35141	School Voluntary Contribution Per Child	39		1	60.00	60.00
35144	Digital Technology Voluntary Contribution Per Child	40		1	30.00	30.00
	(iMaths Online, Reading Eggs, Elibrary, Inquisitive)					
	Please read below and select accordingly		<u>Choose One</u>			
F35142	P&C Voluntary Contribution Per Child	41		1	70.00	70.00
	- OR -					

PARENTS TO SUPPLY

1 x Large Box of Tissues 1 x Library Bag

1 x Art Shirt

1 x Roll of Paper Towel

PARENTS PLEASE NOTE:

SCHOOL VOLUNTARY CONTRIBUTION

We are deeply reliant on our community paying their Voluntary Contributions and Charges. Without these funds, the delivery of many of our learning programs would receive significantly less resources and the co-curricular programs and opportunities that we consider an important part of our students' education would not be possible. Without your support, the school is simply not in a position to be able to deliver the levels of access and quality our students presently enjoy.

DIGITAL TECHNOLOGY VOLUNTARY CONTRIBUTION

The integration of digital technologies into the education program engages students and enables them to develop the skills and habits to become innovative 21st century citizens. We are very proud of the information technology infrastructure and culture at WLPS. Parents are requested to contribute to the costs associated with maintaining appropriate levels of support for information technology.

P&C DONATION

WLPS collects a voluntary contribution of \$70 per student, capped at \$200 per family on behalf of the Parents and Citizen's Association. Funds raised through this voluntary contribution are then strategically allocated by the P&C to support different programs and initiatives.

Number of Boxes ticked:

\$0.00

\$

Postage (Home delivery only)

ESTIMATED AMOUNT DUE (PRICES CORRECT AT 20/09/22)